
 
15 Observation Prizes are identical
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otherdoe
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17161514.13112T
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414211
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16 How many ways can we choose jury of 12people
out of 30

30 Cn 30112
30 121people jury

12 18
i

12 Il lo g 8.7 6 54.32.1

86493225 combinations people on

jury



How do we pick a 12 person jury of all men
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Value x x PGevent

I I 2 4
34 34
21 I I 21
34 34 34

ExPd I
34

a 1 0,235

ExpectedValue It 4024

This game is worthplaying because you are

expected to 24 cents on average

per play

18 Spent 2,600 overall

765lb of it on rent
126

2600626 676



19 15.2 18.8 19,3 11,7 20 2,21 8 22.1 25.4

a 15 lt 0.8t19i3tlS 7tLo.zt21.8t22 lt2 20.8125
8

b Median 19.71 20,2 1 order values
2 2 eliminatefrom bothe ds

19,95 median middlevalue
i mean of 2middle
values

a 5 number summary Max 29.4

Qt 25th Percentile Q3 21,95

Larger than 25 of data Median 19,95
values Q1 19,05

medianof lower Mini 15,2
half

15.2 1818 19.3 19.7

2nd t 19.3
of y 1905
T

0 3 75thPercentile horse tha 75 ofdata

Median ofupperhalf
values

20.2 21.8 22 I 25.4

6th 21,95
8



c
PopulationstandardDeviations

_EnszF n l is for sample SD

x µ X n x m
15.2 5,6125 31,50015625
18.8 2.0125 4.05015625

19,3 1.5125 2.28765625

19.7 20,8125 1.1125 1123765625

20.2 0.6125 0,37515625
21.8 0.9875 0.97515625
22.1 1.2875 1,65765625
29,4 8.5875 73,74515625

x a 115,87825

T population D



20 µ 520 z
5 115

720 z 115

z 3,00711174
a A studentwhoscored 720 scored 1.74 standard

deviations better than average

b 2 1.5 z XI
or

x
X 520

µ 520 1,5
5 115 T 115

115 lis x 520

172.5 X 520
1 520 O t 520

692,5 7
692.5 is the SAT score 1.5 SD above the man



21 positive correlation

b c positive slope

r close to 11
very close to a line with

positive slope

we expect that when temperature increases
sales go up

2 Assure thickness of pizza is the same
no mention of height D 12 r 6

A Tir 12 16 ri 8

A r A r

A it 65
A 8

A E 36th
A is 641T

requires 10 ounces 361T x 6404 oz

3,6ft 64Th 367 36

x x 161oz
9

361T x 641T 1007
17,7oz117,807


